WIS e EEEIRE (R5. 4~3)

THES|IRASE [THEHE [BERS[(BESL RS i
12 1,200(s8=%| 1REREE |HiESNE BEMOR)
23 56,440AEwME| 1 AEMEE |[HESNE L (44)
34 36,440 | 1 AEMIEE |[HESNE ZOOM+=+—(3%4)
52 17,275|588m%| 1FABEHRIEE |(HIESNE ZOOMtI+—(14)
80 2500[zREME| 1 AEMIEE |FEEmHiLL FIYLE Yy FIAR—YI T HRES
0] 113,855 TREGBE S| 0
13 820|sAEwzE| 2HHsRiRE #Eh HHE(14)
24 158,160|5AE % | 2HERE =G HHE (48)
38 154,800|sAz iz | 2tHiRIRE: HEA X - 55 BHE (340)
49 A 12000[sA=/%E| 2HRRE HERSNICESRERFE
0] 301,780 2HisRIRE it _ _ 0
6 20 6.090|mamzun| SRBELH |PNEELA— MREHX=GHTH)
2 117 3,000|mzmzus| SHME LN |d/hELF2— HRBHR=(2H248)
0 9,090 SRIBME LY E5t _ 0
4] 4 2 51,700[sA=#%E| SHIRIZ JE—#)—RU4BHR) 5lEFEEL(Ya-)
5/ 8 8 51,7005 % | SENRIZE JE—#—X(5A%) lEEEL(Ya-)
6] 5 18 51,700[sA=#%E| SHRIZE JE—#1)—X(68%) 5lEFEEL(Ya-)
7] 4 33 51,7005 % | SENRIZE JE—#—X(TA%) lEEEL(Ya-)
8| 4 46 51,700[sA=#%E| SHRIZE JE—#1)—X(BAHR) 5lEFEEL(Ya-)
9] 4 60 51,7005 % | SENRIZE JE—#—X (98 %) lEEEL(Ja-)
10| 4 70 51,700[sA=#%E| SHIRIZ JE—#1)—X (108 %) 5lEFEEL(Ya-)
11] 6 78 51,7005 % | SENRIZE JE—#)—X(11AS) lEZELEL(Ya-)
12| 4 88 51,700[sA=#%E| SHRIZ JE—#U—X 128 %H) 5lEFEEL(Ya-)
1l 4 100 51,700|5= % | SENRIZE JE—#J—XUA%) lEEEL(Ja-)
2] 5 113 51,700[sA=#%E| SHRIZ JE—#)—X2BA%) 5lEFEEL(Ya-)
3| 4 125 51,7005 % | SENRIZE JE—#)—XBASR) lEZEEL(Ya-)
4 7 16,592|5A&®%| SENRIZE JE—RUA %)
5 16 19,098|5A= /% | SHIRIZE aE—RGAR)
6 27 34,443[REHE| SHRIE JE—R (6B %)
7 42 25,626 5= HE| SENRIZE JE—RGAR)
8 54 15,7225z % SENRIZE JE—RKRBA %)
9 65 44,5175 %E| SEIRIZE JE—ROASR)
10 72 16,687 |5z m%| SENRIZE JE—RKRU0A %)
11 84 28,991 (5= H%E| SENRIZE JE—RU1AR)
12 96 25,225|REHE| SHRIZE JE—R 28 %)
1 109 26,772|5=H%E| SENRIZE aE—RUAH)
3 122 39,259 [sREME| SHIRIE JE—RKRQAEH)
3 131 45,035|sAEHR| SHRIE JE—RGBED)
0| 958,367 FEEEEL: 0
3 50 308220 AEME| 6ILIRE H—21—X (ENRIF 25,0008%) | (Hl—1—X208E)
1] 79 311,520[sA=HE| 6LIRE M=—21—X (FIRI 25,0008 [(FI=21—X2098)
2] 1 115 265,320|5A=8%| 6/LHRE H=a1—X (FIRI+£12,000%) [(2108)
4 136 311,520[sA=HE| 6LIRE 20244 E 7> 77— E S (ENRI£50.00040)
4 137 309,320[:AZ=M%E| 6ILIRE M=1—X (EIRI#25,000%) [(2118)
0] 1,505,900 X EES — 0
4 3 49000 5REw%E| 7TREBAE |BABEHEHUES)
5 11 4900sAzwE| 7THEBAE BABREHEGARD)
6 22 49005z | 7TREBEAEZE BAREHEGARD)
7 39 4800sAE®E| 7THEBAE BAEEHEETTAES)
8 53 4800|sAEwR| 7TRIEBAEZ (BAREFETSHTIGASR)
9 62 4800sAE®E| 7THEBAE BAEEHEEHTI (9B S)
10 71 4800[FAERE| /HEBAEZ |BAEFIHEEBHTI 0/ 5)
11 81 4800|RERHE| TREBAE |HAZRZHESAT 1ASH)
12 93 4800[FAERE| /HEBAEZ | BAEXFEBATI(1285)
1 105 4800sAEmE| 7THEBAE BAEEHEETGAS)
2 118 4800sAEm%E| 7TRERBAE [BABREZEFEESHTI2ASR)
3 130 4800sEmE| 7THEBAE (BAREHEHTGAS)
4 4 4400 5REw%| 7TREBAE (HEHFHEUBES)
5 15 44005REwHE| THEBAE (HPHEGAR)
6 26 4400[sEHE| 7TREBAE [(HEHE(6ASR)
7 43 4700sAz®mE| 7THEBAE (WP HESETIGAR)
8 56 4700 5wz 7TREBAE (P HESBETI(BAES)
10 66 4,700sAzmE| 7THEBAE (WP FHEETIOAS)
10 73 470058/ TNEBAE |(#HEFEESHTI0A )
11 86 4,7005AEw%E| 7THEBAE (#HEFBESTIG1ASR)
12 97 470058/ /TNEBAE |(HEFEESTI(2A5)
1 106 4700sAzwHE| 7THEBAE (HPFHBESETI0AS)
2 120 4700 5w 7TREBAE (P HESBETICES)
3 133 4,700:AEHE| THEBALE ‘fﬁiF%J’rFEﬁéHI [€YZED)
4 5 2903|sAEME| 7TRIZEEAZ [[LME0QUAIEL [HIEL. BE] BELEAKUAR)
5 10 2903|EmE| 7TREEAE ([ZHQUAIE]. [FIfl BE] BELEBERAKGAR)
6 21 2903|:REHE| TREBAE |Ixtouval ragl rangesesl. ([BE].EE5LEBRA6GAR)
7 37 2903|sEwMR| 7TRIEBAE [Ixttouvail. Mol [adees). [[5F). Z2EBE8K0TARD)
8 51 2903|:REHE| TREBAE |Ixtouval. ragl. rangesesl. ([BE].EE5LERABGAR)
9 61 2903|sEwMR| 7TRIEBAE [IxttovaEl. Mol [agees). [[5F). Z2EB8K0A D)
10 74 3503|:EME| TREBAE |rxtouval ragl. ragesesl. ([BE].EBSEEABEKU0AY)
11 83 2903 |EmE| 7TREEAE [[ZMHQUAIEL [Efl. BE]. BELEABAERUIAR)




5

(#fE
BB [xHBES|IRALEE [THEHE BERS |RES AE E=
12|25 94 2903z 7TRIZEEAZ [[LMEQUAIEL [HIFL. BE]. EBSLEBEK02AD)
1] 26 107 2903[REwE| 7TREBAE [[ZHEQUVAE]. [HIf. BE] BELEEAKUASR)
2[19 116 3089 |sAEwE| 7TRIZEEAZ [[LMHEQUAIEL [HIFL. [fBE]l BELEAKQCAR)
3|11 126 4003[sAEmHE| THEBAE ([ZHQUAE]. MFifl. BE] BELEARAGCAR)
7120 36 6,000|5AEME| 7REEAE BT (2023548 ~2024537)
11] 27 82 50,998z E| 7TREEAE |5 MK RERLEE (453-469) |77 BA TR B (R 2 7555 42 (286-290)
3] 14 129 18212|58 /% | 7TREBAE | HKRERERESEE (470-478)
2|14 114 7699 [EEME| TREBAE |MAHBEREFSH(291-294)
12| 7 90 4800[5AERE| THEBAE |SFHHE20235F5~128 A ELBRRRE20235F5~12H
1l 10 102 1222[REwE| TREBAE [FRAHFR 202344 F ~202443 H
7| 26 40 5900|:8=HE| TREBAE |comEritostErm. o st Bh . ADmonrosAkEs. TEL0EHORENESRS
118 103 3080|EmME| 7TREEAE [RITHEANE
118 104 3500/5AEwE| THEBAE [FIEOHLFEL
3] 4 123 16,775|5zHE| THEBAL |[EEEREER 20235 HES5~X5S
0] 274,308 7TERERASE K 0
5] 29 14 5016[A=HE| SEIEE 13— yMERFE (4B %) [BIEFEEL(RAOL)
6| 27 25 5016|5AZzw%E| SEIEE A3—2yMERE GAR) |5IEEEL(RAOL)
7| 27 41 5016[;A=HE| SEIEE 13— yMERE (68%5) [BIEEEL(RAOL)
8| 28 55 5016|5AZzw%| SEIEE A3—2yMERE A SD) |BIEEEL(RA4OL)
9| 27 63 5016[;A=HE| SEIEE 13— yMERE (8A %) [BIEEEL(RAOL)
10| 27 67 5016|5AZzw%E| SEIEE A3—2yMERE VA D) |B5IEEEL(RAOL)
11] 27 85 5016[;A=HE| SHEIEE A 3—3xyMERE (10A%9) [BIEZEL(RAOL)
12|27 95 5016|5AZzw%E| SEIEE A o—xyMERF (1A H) [BIEEHEL(RAOL)
1] 29 108 5016|5A&mMz| SBIEE 13— yMERE (128 5) [BIEEEL(RAOL)
2|27 119 5016|5Azw%E| SEIEE 15— yMERE U ASD) [BIEFREL(RAOL)
3|27 132 5016[;A=HE| SHEIEE 13— yMERE (285) [BIEEEL(RAOL)
4 138 5016|5Azw%E| SEIEE A3—2yMERKE BAR) |B5IEZELEL(RAOL)
7]13 35 2,268|sAEMR| SEEE FTEEE75—k 271K
0] 62460 SHlEE &ir 0
4] 28 6 81,200[sAEHE [1o2kzsnaERER |5 4 )
5] 31 17 93,200[FAEME [02irswaEREE |85 A D)
6] 29 28 111,200 A& H % osrsna s [R5 (6B %)
7] 3 30 5400 AEHE [02iRrswaEREE |55 (6B )
7] 31 44 89,600[sAEME [o2ikznaERER|IRE5 A D)
8] 3 45 16,740 A8 HIE [oarsmaEREE |85 (TAR)
8] 31 57 9,000[sAEHE [osRzsnaEReR A5 (BA D)
8] 31 58 93,200[FAEME 102w aEREE |55 (BA L)
9] 28 64 95,600 AEHE [102RzsnaERER |5 A D)
10[ 30 75 87,200[AEWE [o2ikswaERLE {55 (108 H)
10[ 30 76 31,600[AEHE [o2rzsrnaERer |85 (10A )
11] 30 87 90,800 [FAEW L [102ikswaERLE |5 (11 A D)
12] 28 98 8,400|:A=WE osRsnaERLEE| K5 (128 H)
12] 28 99 92,900[AEWE [o2irswaERLE |65 (128 )
2] 1 110 21,600[AEHE [o2rzsnaERe|R5 (0 AD)
2] 1 111 70,400 FAEHE [1o2irswaEREE |5 (B S)
2] 29 121 85,700 [sAEMHE [oskzsnaEReR |5 A )
3] 29 134 83,000[FAEME [102ikswaRREE |85 BA )
4] 1 135 56,200 AEHE [o2RzsnaERER |85 CA )
6] 29 29 85,400 AEME [0 REBEERER | ES—BE
7] 3 31 9,400[AEHE [02RERAERER | ES— KBS
12] 8 91 20914|REME 02 REBEERER | XS —BE
12] 8 92 185,866 SAEME [losksnEEReR | XE—HKE
3] 14 127 4934 |REFE [osrzpaERes (HIXFY
3|14 128 40,500 [AEHE [osrzsnaReg IR F Y
0] 1,569,954 DEREMAREER i 0
4] 4 1 4400 AEMR |11 EHE NIV —RE (4B HR) FlEZEL()T)
5/ 8 9 4400\ HEHR |1 EHE Ny ) -2 GHES) lEZEEL(Ya-)
6] 5 19 4400 SRERE|11EHKE Ny )—RE6AR) 5lEFEEL(Ya-)
7] 4 32 4400[AEHE |11 EHEE NV ) —ZRETHES) FlEEEL(I)
8| 4 47 4400 SERE| 11 EHKE Ny )—ZRE(BA ) 5lEFEEL(Ya-)
9] 4 59 4400[AEHE |11 EHEE NV —ZRE VA ) FlEEEL(I)
10| 4 69 4400 SRERE | 11EHKE \yav)—ZRE10A L) 5lEFEEL(Ya-)
11] 6 77 4400[AEHE |11 EHEE XVaV)—ZRE 1A R) lEEEL(Ya-)
12| 4 89 4400 SRERE|11EHKE NV —RE (128 5) 5lEFEEL(Ya-)
1l 4 101 4400[AEHE |11 EHEE NV —ZR# OB ) lEELEL(Ya-)
2| 5 112 4400 SERE| 11 EHE Ny )—ZREQAR) 5lEFEEL(Ya-)
3| 4 124 4400 AEHE |11 BHEE AV EPDES S ICEED) 5lEEEL(I—)
0] 52,800 EX ¥ 350 0
4] 20 2,400,000 BEEDE | BISEEE BEEEE (4~98 %)
10/ 20 2,400,000 BnEnE| IS E BB BEEEE (10~38%)
4,300,000 0 BB EBE ST 0
8| 21 6 FE |FE
2] 19 6 FIE |FIE
12 0 Flo EaT 0
4.800,012 4,848514 f&5T

4,800,000 3 {1%E
101.01% #4735

)



